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Question 10- If player D hits four boundary and 5 sixes in his next

innings continuously and one ball missed by him then find his strike

D — —

rate.
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None of these

Question 11- If player B plays 10® ball and he ducked out on 10 ball
then find his new strike rate.
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Question 1- A can do a work 1n 16 days. B can do the 40% of same
work 1n 16 days. B and C together do the 55% of same work 1n 12 days.

In how much time A and C together do the same work.
T 1- A Tk 1 ol 16 o1 H T Tkl 21 B SET 61 BT 40% T 16 e

L FohdT 2] B 31T C Teh €1 T h1 AT 55% 12 feAT A shtd 21 A 3 C Th
|1 34T T Rl Tohe 7 H 90 Ld &7

/é- J«é& i{- i A. 10 days
Jee o B. 20 days
R— 4o Ric - o C. 16 days

\{/' B 12 days

30 E. None of these
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Question 2- A train crosses a bridge in 35 seconds. If the length of train
@han the length of bridge and speed of train 1s increased by

40%. Then find time taken by train to cross @ person.

T 2- Teh ¢ Toh U1 hl 35 Hhe H IR L &l ATQ o shl TialTs IeT ohl TalTS
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D. 10 seconds
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Question 3- A person sells an article at Rs 1044 and gains 16%. If he

wants a profit of 40% after a discount of 10% then find marked price.

T 3- Ush Afth Ueh o ol 1044 T H SI=rdT @ TR IH 16% T <19 Bl
2. Ffe I8 10% 3h1 D oh SI1E 40% hl AT =& & d1 Jifehd AT JTd
EAISE]

0, 169 = loyyy 4 MO%%[ROO ,OO./‘,(MP) A. Rs 1200
3)“00 7 %(160 = | Oyloo  B. Rs 1300
30,/\_ 266 \\30 C. Rs 1500
° BN e CD—Rs 1400
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@ Question 4- A person deposited Rs 60,000 each in two scheme at 12%
per annum for 2 years. First scheme provides simple interest and other

G Te 2412 compound interest . Find the difference between interest earned after 2
e, years.
~°?H‘7‘ T 4- Ueh i<k 4 S AT H 2 91 ah foIT 12% i a8 shl 2 60,000
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A. Rs 126
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pan D. Rs 826

_E—None of these







@ Question 5- In first six test the average score of a person was 36. In
1§ next 4 test he increases his score 50%. If he wants overall average 60

A6t % | =54 in 20 test then what will be the average score for remaining test.
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The table given shows the information about male and female in a group and

some information is missing.

<1 778 dTicTehT U THE H T8 ST AT o ST H SR f@Td! § 3 3w S

T 2
TOTAL %AGE/NUMBER PERCEN

NUMBER OF OF MALE TAGE OF

PERSON FEMALE

960
1200




Question 6- Find the difference between the number of

male and female 1n Q.
T 6- Q H T8 X AIGAT shi HEAT oh i<l hT IHL e

eI

TOTAL PERCENTA PERCENTA
NUMBER OF GE/NUMBE GE OF A7 800
PERSON R OF MALE FEMALE B. 300
960 C. 500
1200 ‘306/6 D. 400

E. None of these
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Question 7- If difference between number of male and

female 1n R 1s x and total number of person in R be y.

Then which option 1s correct.

Male = 30"/#?% T 7- Ff R H Y& SR AT ohl HEAT o6 i<l o1 ST x &

=039 3N R H el HEAT y B 1 4 4T forsheq @l 2
~
f&mJ e=()- TOTAL PERCENTA PERCENTA
; NUMBER OF GE/NUMBE GE OF A. x=y+80
PERSON R OF MALE FEMALE B 5x =2y
960 C. 3x=2y
D. X=4y

1200

E. None of these
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Question 8- The number of person in S is 25% less than

that of in P then find percentage of female in P.
T3 8- S H SR h! GEAT P oh STxh eh TEAT T 25% FH
2, aI P & aigarstt s gfaerd 31 il

TOTAL PERCENTA PERCENTA

NUMBER OF GE/NUMBE GE OF A. 20%

PERSON R OF MALE FEMALE B. 30%
0

D—60%

1200

E. None of these
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30 Question 9- If the number of male in Q and T together
1s 1560 then find total person in Q and T.
9% 9- Ffe Q 3R T H FHATSR TeT 3h1 HE&AT 1560 &, AT Q

X T W el STk 14 shifsral
TOTAL PERCENTA PERCENTA
NUMBER OF GE/NUMBE GE OF s 20%
PERSON R OF MALE FEMALE B. 30%
0
1200 D. &8 250
E. None of these
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Question 10- Find the wrong number 1n given series

T4 10- 31 7T JEAT H Toid T&AT 1 it
10, 31, 94, 283,(860,)2551
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e f ii(s)l
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Question 11- Find the wrong number 1n given series

o N

95 11- 31 75 J@AT H Toid ST 1 it
70, 71,75,91,160,411
N

G 16 A. /130
a, Jo+4°= 7 B. 75
S I i
; %Hfl: Jl E.. 91
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Question 12- Find the wrong number 1n given series

o N

T 12- 31 T J@AT H Toid G AT 1 it

11,22, 37, 74, 89, 193 30
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S B. 74
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